FOOLNEERABAERZRFEAERAT —F - P14 ANV T —8REOBREICDUNT
2AN—
REDHE
= & N = 53 =
B8 & b B f& B8 B | $L BUNRE (K2 [ AFHE (25 K)
= =] L =] .
EBS o] B i | EB o] B [
205.0 111.0
wA B¥m | H26.1 28~22| 125% 21 eliv]
(Bh:203) ENR103)
T = N = 1272 | 2220 Dfi 112.0 i
27—k - PA AR v T —BRADKES IS
1 i1 D1 301 AN 5 6 i 7 Shi
%%Eﬁ% teEa| E B T R | #®= B E X IR B Al T
i% ea | 2870 205.0 175.0 163.0 1460 1130 111.0 102.0
TSR —
S M rmsE| E B | 2 R | #F) W -8 & B 5 &
golBg | kBB | B B X IR B |-l B R S 3 B &0
EE ga | 1370 111.0 66.0 580 56.0 550 480
e v ee| 8 8 | L% | 2= |=x |88 |88 | 2 WL
AT =k - PA 2RV T =GB RE0ORODME BIEDHE
BLTHBE (REW) | ZFTHLS (SBWN)
ES o] B 1 | EB & ]| IE [
60GA= | 2050 2fi 1110 Dfi1
68GA=E | 2220 21 1120 2
6/0A= | 2060 i 130.0 1 i1
660A= | 2140 X 1200 X
650A= | 2770 i 1250 DN
AT —=bF - PARARVT —BEEOAEERDHERE  FEREEVFOLTAR
11| 261 31| 41| 5(i| 6f1| 71| 81| &t
-4 8] 36| 36 4] 3137
GOA= 2 | 51 3| 3 1 4 | 1 1 | 20
| 5713|7545 21838
68OA= Slal 23] 4] 3] 3 1 | 23
|7 71 36| 38352121835
SrOA= 4 5 1 4 1 1 2 2 | 20
|16 |6 21871415 3 a1
GEOA= 2 4 2 5 4 3 2 3 |25
~| 6 [10]6 |6 |4 |4 [ 5 [ 1 |42
GSEA= 2 4 5 5 3 2 3 1 |25
2T — FEBRADBIE
1 1 D 30 AfT 507 6 7 Shi
%%,L%a% tEa|l E B B R [#Z= | K I B A w3 2 @
ff% aa | 2370 185.0 1250 1230 103.0 1010 920 86.0
SU M e | EH | F R |(BE| W R-B N R | B D
go|lBg | tEE| B B X IR s m-l A w oz S 3 =)
%?ZE aa | 1370 111.0 66.0 580 56.0 550 480
s e | &8 | U2 |25 |28 | 586 | @8 8 U0
7?1 2T =5 =Dk EE
1 1 X 30 4t | 4 6 | 6 Shi
%ﬁ% B2 w K F £ 5 & ItEE -8 R W) -F ) % B
2| B8s| 750 650 60.0 500 400 350
SHE [ mm | & & | 58 E | %5 A | &= = | @05 E 5
BRIEDHTS
2T — FB LTRSS | AT - FLZFRs| P A ANy T —
BB o] B U | EB o] E U | EB o] B
6OGA= | 1850 el 1110 i 200 Oofi1
638GA= | 1920 2 112.0 2f 300 Sh
67/G0A= | 1960 X 130.0 1 iz 100 —
66GA= | 2040 i 120.0 DN 100 —
650A= | 2320 Dl 1250 X i 450 5hi




8 FEOLEEREEASAI- - MAyI-Hhks

EhiE RIS piE— 8 Gk AR

BLBSHHE R SFHORE (2EH)

G | weme | sment | 27—+ | A | gt | seme | gsst | 27—+
1 i 2870 | 2370 500 1 | 1370 | 1370
> | E%8 | 2050] 1850 200| 2 | %8 | 1110] 1110
3 TRED 1750 | 1250 500 3 KBRS 66.0 66.0
4 eI 1630 | 1230 40.0 4 TREB 580 58.0
5 BEE 146.0 81.0 65.0 4 WHE 580 580
6 N 1130 | 1030 100 6 HE)IIE 56.0 56.0
e B8 1110| 1010 100 4 B8 550 550
8 WHEE 102.0 920 100 8 ZHE 480 480
9 PhARE 970 220 750 9 e 470 470

10 | mmEe 960| 860] 100] 10 | #eE 440|440
10 BARE 96.0 36.0 600 ] 11 aEs 370 37.0
12 | Wwe 940| 840| 100]| 12 | =8 310 310
13 BEEE 890 79.0 100 ]| 13 BEE 30.0 30.0
14 | B8 880| 780| 100]| 14 | BeE 580 | 280
15 (IS 840 74.0 100 ]| 15 LhEE 270 270
16 | BeE 570| 470| 100| 16 [A#lE| _ 260| 260
17 REPT 520 420 100 | 17 ZE 220 220
18 | &g 500] 100| 400]| 18 | B%E 510 210
19 HEE 450 10.0 350]| 18 =F B 210 210
20 | &F8 440 340 100]| 20 | &8 500 | 200
21 REE 410 26.0 150 ] 21 BIRE 150 150
52 | wHE 380 180| 200]| 22 | =me 100|100
23 NS 370 270 100 | 22 R 100 10.0
o4 |WBRWE | 360 260] 100]| 22 | wme 100|100
25 SWE 320 220 100 | 22 AR 100 10.0
26 | T=E 280| 180| 100| 22 | T=& 100|100
27 BIRE 250 150 100 | 22 a8 100 10.0
28 | BB 510| 110| 100| 22 | BIIE 100|100
29 == 200 10.0 100 | 22 B8 100 10.0
29 | MBE 200| 100| 100| 22 | w&Ee 100|100
29 a8 200 10.0 100 | 22 =RE 100 10.0
29 | ®HE 500| _100| 100]| 22 | =mE 100|100
29 Eeanal=} 200 10.0 100 | 22 SRE 100 10.0
29 | =28 200| 100| 100][ 22 | &IIE 100|100
29 =RE 200 10.0 100 | 22 RIFE 100 10.0
29 | BmE 200| _100| 100| 22 | FaE 100|100
29 SRE 200 10.0 100 | 37 MEBE 00 00
29 | WoE 500| 100| 100]| 37 | &HE 00| 00
29 B8 200 10.0 100 | 37 =88 00 0.0
29 | EBE 500| 100| 100]| 37 | WOE 00| 00
29 BERE 200 10.0 100 | 37 B8 00 0.0
29 | AnE 200| 100| 100]| 37 | =%E 00| 00
29 ZIFE 200 10.0 100 | 37 B8 00 0.0
59 |[BEBE|  200| 100| 100| 37 | A»nE 00| 00
45 SXE 100 0.0 100 | 37 SIFE 00 0.0
15 | rEe 00| 00| 100] 37 |BesE 00| 00
45 SPREE 10.0 0.0 100 | 37 e 0.0 0.0

58020 [1972.0 |_830.0 71080 | 11080




O FOOLERKBASZFEARE (AJ-+-

FAART-HER=) DAEE

[[EYivi =l 12 8 K % Ph = SCER ES=
1 fi1| HEBF AE—F 500m Mg =¥ B XS Y F 3 —® 36" 22| 80
™ BN BASEY Y+ 3 —®
N . i BR g m X 2 1 &
1 1| BRELZF AE—-F 2000mR 2’ 40" 96| 80
& sk BXAXEEYYF 3 —®
BK IE w M N = M M
1 fiI| DELZF Y3—hk 500m ot UL W B & B 3 ® 477 0941 80
1 fi1| DELZF Y3—hk 1000m UL W B & B 3 7 1" 41”7 531 80
2 fi1| HBELF -k 500m (Y = SN BAEEYDY Y+ 3 —® 39" 91 7.0
2 f1| BELZF AE—F 1000m & BN BAEEYDY Y+ 3 —® 1725”021 70
2 fiu| DESBF 2E—F 500m Bl fRE FE B RKN=Z8 KR 3 F 37786 7O
2 f1| DVELZF -k 500m S M A KRB & KRR3I3 EF 40" 74| 7O
2 fi1| DVELZF 2E—-F 1000m R EH A RESR2EF 1721”58 70
iy 23] B ®x K 2 4 £
N . AR &sh s B K ¥ 3 &#
2 fu| mREBTF AE—F 2000mR 2" 27" 351 TO
5N A gF B K F 2 g
PE I BAEEYDY Y+ 3 —®
R BA R &t & ® 3 &
2 1| DVESF 2E—-F 2000mR AE hoB S _fﬁ s 7 229”88 TO
BH =X m T R®HES K2 HF
Bl #RE FE B AKNZ=Z 8 KR 3 F
S M A KR E SR IEF
N . mw= BieE m R BTSRRI EF
2 fu| DELZF AE—F 2000mR — 2" 42" 85| TO
WH HR BB A s K 1 F
R =% XA KRB &R 2
3 fi1| DEBF 2E—-F 500m R BA R &t & ® 3 & 37" 95| 60
3 fi| DEEF -k 10000m PiE BB m R HB S KR 2 13" 52" 75| 60
3 fi1| DVELZF AE—F 1000m S M T XA KRB & KR 3EF 17 317 09| 60
4 fii| MEBF 2E—-F 1000m iy 23] B X K 2 4 £ 1" 14" 18| 50
4 fii| MELZF -k 1000m Bk mE w M &N = M M (17 19" 46) 50
4 fiI| MBELZF AE—F 3000m hé sk BAEEYDY Y+ 3 —® 4’ 14" 16| 50
4 fi| DESBF Y3—hk 500m ENU Y N W B & B 2 7 43" 608 50
4 fii| VELZF -k 1500m W FR ? BB s KR 1 F 2" 16" 91 50
4 fii| VELZF 2E—-F 3000m BiE Bt 7 A KR E S R3EF 4’ 24" 32 50
5 fi1| HESBF -k 5000m B E2) W HZFk KFI3IHF 6’ 39" 42| 40
5 fi1| DESBF AE—F 1000m K= M W s s ® 3 & (17 15" 91) 4.0
o I8FH 7 8 K ¥ 4 F
N g ¥ @ = JII K £ 1 &
5 fiI| MRELZF Y3—hk 3000mR 4" 48" 774l 40
INO  #oEE [ =} ES
WM B=X SERRERBUALKRXKF2HF
6 fiI| HEBF AE—F 500m iy @23l B X K % 4 & 37" 53 30
6 fiI| REBF 2E—-F 1500m A Y = W R KXKF1F (2" 25" 41) 30
6 fi1| DVESBF -k 1000m BH =X m BTSSR 2 (17 16" 84) 30
6 fi1| DVEBF -k 5000m MO &R5e m T R®BES K2 HF 6 56" 64) 30
6 fi| DEFELZF AE—-F 1500m B EH XA RE SR 2EF 2" 09" 37) 30
6 fii| DVELZF AE—F 3000m R A0FR T XA ERE &R 2 (4" 24" 34) 30
7 fI| RELTF 2E—-F 500m BK mE w M N = OFE M 57" 93 20
7 | REZTF Y3—hk 1000m g ® s = JII K £ 1 & 17 62" 5521 20
s K85 W HRZFHR KZF2F
=N 2 W HRZIFkR KXKZF1HF
7 Il mESBTF Y3—hk 5000mR 7 43" 4621 20
X8 K= = B K ¥ 1 7
HIR BN B X K % 2 £
7 fIl D F PA AR T — = g7 = e R 100
8 fii| MEBTF -k 5000m BH KB 8 M B K ¥ 3 & 6 39” 28 1.0
8 fi| WVELF 2E—-F 500m W FHR B B O s R 1 F 53" 70 1.0
8 fii| MELF Y3—+hk 500m i e 7 B K 2 4 F 47" 372 1.0






